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There are six members in a family. F is the sister of E and A is the brother of C's husband. B is the father 
of D and grandfather of E. There are two brothers and two fathers in the family. C is married to B. 
एक परिवाि में छह सदस्य हैं। F, E की बहन है औि A, C के पति का भाई है। B, D का तपिा है औि E का दादा
है। परिवाि में दो भाई औि दो तपिा हैं। C, B से तववातहि है।

34. Who is F's mother? F की मािा कौन है?

A. E B. A 
C. B D. Cannot be determined 
E. None of these

35. If E is married to an outsider M, how is 'F' related to M?
यतद E का तववाह तकसी बाहिी व्यक्ति M से हुआ है, िो 'F', M से
तकस प्रकाि संबंतिि है?

A. Brother–in–law B. Sister–in–law 
C. Aunt D. Grandmother 
E. None of these
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Statements: 
Only a few wells are mats.
All pillows are mats. 

Conclusions: 
(I) Atleast some pillows are wells. 
(II) All wells can never be pillow.

A. If conclusion I follows 
B. If conclusion II follows 
C. Either conclusion I or conclusion II is true 
D. Neither conclusion I nor conclusion II is true 
E. Both conclusion I and II are true
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There are three generations in a family of ten members. There are three couples in the family. A is 
G’s grandfather. C is B’s daughter. H is E’s niece. F is I’s mother. D is G’s father. J is B’s granddaughter. 
Every couple has a son and a daughter. D is J’s uncle. दस सदस्यों के एक परिवाि में िीन पीत़ियााँ होिी

हैं। परिवाि में िीन जोडे हैं। A, G का दादा है। C, B की पुत्री है। H, E की भिीजी है। F, I की मािा है। D, G 
का तपिा है। J, B की पोिी है। हि जोडे का एक बेटा औि एक बेटी है। D, J का अंकल है।

11. How is F related to J? 
A. Father B. Sister C. Mother D. Son-in-law E. Brother

12. How is B related to G? 
A. Grandfather B. Grandmother C. Granddaughter D. 
Grandson E. Son

13. How is D related to A? 
A. Daughter-in-law B. Son C. Son-in-law D. Brother-in-law 
E. Sister

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

'very large risk associated' is written as ‘nu ta ro gl’, 
'risk is very low; is written as ‘gl se nu mi’, 
‘is that also associated’ is written as ‘ta mi po fu’ 
‘inherent risk also damaging’ is Written as ‘fu nu di yu’

19. Which of the following is the code of 'damaging’? 
A. di B. yu C. nu D. either di or yu E. None of these 

20. Which of the following may represent ‘risk is very large’? 
A. gl mi nu ro B. nu gl ta se C. nu ro se yu
D. ro gl di nu E. None of these

21. Which of the following is the code of ‘associated’? 
A. nu B. po C. ta D. fu E. gi
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22. What would be the code for ‘inherent large risk’? 
A. yu ro nu 
B. di ro nu 
C. yu fu ro
D. di ta se 
E. Either A or B

23. Which of the following may represent ‘low risk associated 
industry’? A. ta nu gi ro
B. ta hi nu se 
C. mi ta se fu 
D. di gi ta po 
E. po gi se di

'very large risk associated' is written as ‘nu ta ro gl’, 
'risk is very low; is written as ‘gl se nu mi’, 
‘is that also associated’ is written as ‘ta mi po fu’ 
‘inherent risk also damaging’ is Written as ‘fu nu di yu’
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A building has eight floors numbered one to eight, in such a manner that the ground floor is 
numbered one, the floor above it, numbered two and so on such that the topmost floor is 
numbered eight. One of the eight persons, viz, P, Q, R, S, T, U, V and W lives on each floor but 
not necessarily in the same order. R lives on third floor. Only two persons live between the 
floors of R and V. W lives on the floor immediately above the floor of Q. Only one person 
lives between the floors of T and U. T lives above U. Only one person lives between the 
floors of R and S. S lives on any floor below the floor of T.

एक इमािि में आठ मंतजलो ंकी संख्या एक सेआठ इस प्रकाि है तक भूिल की संख्या एक है, 
उसकेऊपि की मंतजलकी संख्या दो हैऔि इसी ििह सबसे ऊपिी मंतजलकी संख्याआठ है।

आठव्यक्तियों में से एक, अर्ााि, P, Q, R, S, T, U, V औिW प्रते्यक मंतजल पि िहिा है लेतकन
आवश्यकनही ंइसी क्रम में हो। R िीसिी मंतजल पि िहिा है। R औि V के िलो ं के बीच केवल दो
व्यक्ति िहिे हैं।W, Q के ठीकऊपि वाले िल पि िहिा है। T औि U के िलो ं के बीच केवल एक
व्यक्ति िहिा है। T, U के ऊपि िहिा है। R के िलो ं के बीच केवल एकव्यक्ति िहिा है।औि S. S, T 
के िल के नीचे तकसी मंतजल पि िहिा है।
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A building has eight floors numbered one to 
eight, in such a manner that the ground floor is 
numbered one, the floor above it, numbered 
two and so on such that the topmost floor is 
numbered eight. One of the eight persons, viz, 
P, Q, R, S, T, U, V and W lives on each floor but 
not necessarily in the same order. R lives on 
third floor. Only two persons live between the 
floors of R and V. W lives on the floor 
immediately above the floor of Q. Only one 
person lives between the floors of T and U. T 
lives above U. Only one person lives between 
the floors of R and S. S lives on any floor below 
the floor of T.
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24. Who among the following lives on the fifth numbered floor?
तनम्नतलक्तिि में से कौन पााँचवें क्रमांक वाले िल पि िहिा है?

A. S B. Q C. W D. P E. V

25. Who among the following lives exactly between the floors of 
R and S? तनम्नतलक्तिि में से कौन R औि S के ठीक बीच में िहिा है?

A. U B. P C. V D. T E. W

26. Who among the following lives on the topmost floor? 
तनम्नतलक्तिि में से कौन सबसे ऊपिी मंतजल पि िहिा है?

A. T B. Q C. W D. R E. V
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27. Four of the following five are alike in a certain way and hence they 
form a group. Which one of the following does not belong to that group?
तनम्नतलक्तिि पांच में से चाि एक तनतिि ििीके से समान हैं औि इसतलए वे
एक समूह बनािे हैं। तनम्नतलक्तिि में से कौन सा उस समूह से संबंतिि नही ं है?

A. R B. V C. P D. S E. Q

28. How many persons live between the floors of Q and U?
Q औि U के िलो ं के बीच तकिने व्यक्ति िहिे हैं?

A. None B. One C. Two D. Three E. Four
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A building has eight floors numbered one to eight, in such a manner that the ground floor is 
numbered one, the floor above it, numbered two and so on such that the topmost floor is 
numbered eight. One of the eight persons, viz, P, Q, R, S, T, U, V and W lives on each floor but 
not necessarily in the same order. R lives on third floor. Only two persons live between the 
floors of R and V. W lives on the floor immediately above the floor of Q. Only one person 
lives between the floors of T and U. T lives above U. Only one person lives between the 
floors of R and S. S lives on any floor below the floor of T.

एक इमािि में आठ मंतजलो ंकी संख्या एक सेआठ इस प्रकाि है तक भूिल की संख्या एक है, 
उसकेऊपि की मंतजलकी संख्या दो हैऔि इसी ििह सबसे ऊपिी मंतजलकी संख्याआठ है।

आठव्यक्तियों में से एक, अर्ााि, P, Q, R, S, T, U, V औिW प्रते्यक मंतजल पि िहिा है लेतकन
आवश्यकनही ंइसी क्रम में हो। R िीसिी मंतजल पि िहिा है। R औि V के िलो ं के बीच केवल दो
व्यक्ति िहिे हैं।W, Q के ठीकऊपि वाले िल पि िहिा है। T औि U के िलो ं के बीच केवल एक
व्यक्ति िहिा है। T, U के ऊपि िहिा है। R के िलो ं के बीच केवल एकव्यक्ति िहिा है।औि S. S, T 
के िल के नीचे तकसी मंतजल पि िहिा है।
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24. Who among the following lives on the fifth numbered floor?
तनम्नतलक्तिि में से कौन पााँचवें क्रमांक वाले िल पि िहिा है?

A. S B. Q C. W D. P E. V

25. Who among the following lives exactly between the floors of 
R and S? तनम्नतलक्तिि में से कौन R औि S के ठीक बीच में िहिा है?

A. U B. P C. V D. T E. W

26. Who among the following lives on the topmost floor? 
तनम्नतलक्तिि में से कौन सबसे ऊपिी मंतजल पि िहिा है?

A. T B. Q C. W D. R E. V
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27. Four of the following five are alike in a certain way and hence they 
form a group. Which one of the following does not belong to that group?
तनम्नतलक्तिि पांच में से चाि एक तनतिि ििीके से समान हैं औि इसतलए वे
एक समूह बनािे हैं। तनम्नतलक्तिि में से कौन सा उस समूह से संबंतिि नही ं है?

A. R B. V C. P D. S E. Q

28. How many persons live between the floors of Q and U?
Q औि U के िलो ं के बीच तकिने व्यक्ति िहिे हैं?

A. None B. One C. Two D. Three E. Four
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(a)If only conclusion I follows. 
(b) If only conclusion II follows. 
(c) If either conclusion I or II follows. 
(d) If neither conclusion I nor II follows. 
(e) If both conclusions I and II follow.
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Seven people viz. A, B, C, D, E, F and G lives in a building on seven different floors such 
as ground floor is numbered 1, the floor just above is numbered 2 and so on till top 
floor numbered as seven but not necessarily in the same order. There are less than 
three floors above A. Only one person lives between C and A. G lives immediately 
below D. D lives on an even number floor. B lives immediately above A. F lives above E. 
F does not lives on the 5th floor. F does not lives on an even number floor. 

साि लोग अर्ााि। ए, बी, सी, डी, ई, एफऔिजी साि अलग-अलग मंतजलो ं पि एक इमािि में
िहिे हैं जैसे तक भूिल की संख्या 1 है, ऊपिकी मंतजलकी संख्या 2 है औि इसी ििह शीर्ा मंतजल
की संख्या साि है, लेतकन जरूिी नही ं तक एक ही क्रम। A के ऊपि िीन से कम मंतजलें हैं। C औि A 
के बीच केवल एकव्यक्ति िहिा है। G, D के ठीक नीचे िहिा है। D एकसम संख्या वाली मंतजल पि

िहिा है। B, A के ठीकऊपि िहिा है। F, E के ऊपि िहिा है। F, 5वी ं मंतजल पि नही ंिहिा है। F 
एकसम संख्या वाली मंतजल पि नही ंिहिा है।
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Seven people viz. A, B, C, D, E, F and G lives in a building on seven different floors such 
as ground floor is numbered 1, the floor just above is numbered 2 and so on till top 
floor numbered as seven but not necessarily in the same order. There are less than 
three floors above A. Only one person lives between C and A. G lives immediately 
below D. D lives on an even number floor. B lives immediately above A. F lives above E. 
F does not lives on the 5th floor. F does not lives on an even number floor. 

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

5. Four of the following five belongs to a group find the 
one that does not belongs to that group? 
तनम्नतलक्तिि पांच में से चाि एक समूह से संबंतिि हैं, वह ज्ञाि
कीतजए जो उस समूह से संबंतिि नही ं है?

(a) CD (b) EC (c) FB (d) AB (e) GC 

6. Who among the following lives on the top floor?
तनम्नतलक्तिि में से कौन सबसे ऊपिी मंतजल पि िहिा है?

(a) E (b) B (c) F (d) D (e) None of these

7. Number of persons lives above F is same as the number 
of persons below __ ? F के ऊपि िहने वाले व्यक्तियों की

संख्या __ से नीचे के व्यक्तियों की संख्या के समान है?

(a) B (b) D (c) C (d) G (e) None of these
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8. How many floors are there above the floor on 
which G lives?
तजस मंतजल पि G िहिा है, उसके ऊपि तकिनी मंतजलें

हैं?

(a) One (b) Two (c) Three (d) More than Four (e) Four 

9. Who lives immediately below A? 
A के ठीक नीचे कौन िहिा है?

(a) D (b) E (c) F (d) C (e) None of these
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10. Which of the following element is twelfth to the left of the twentieth element 
from the left end of the given arrangement?
तनम्नतलक्तिि में से कौन सा ित्व दी गई व्यवस्र्ा के बाएं छोि से बीसवें ित्व के बाएं से

बािहवें स्र्ान पि है?

(a) 6 (b) & (c) M (d) $ (e) None of these 

11. If all the symbols are dropped from the series, which element will be 
fourth to the right of the one which is twelfth from the right end? 
यतद सभी प्रिीको ं को श्रंिला से हटा तदया जािा है, िो कौन सा ित्व दायें छोि से

बािहवें के दायें से चौर्ा होगा?

(a) 9 (b) O (c) R (d) 7 (e) None of these
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12. How many such numbers are there in the given series which are immediately preceded by a symbol 
and followed by a letter? 
दी गई श्रंिला में ऐसी तकिनी संख्याएं हैं तजनके ठीक पहले एक प्रिीकऔि बाद में एक अक्षि है?

(a) None (b) One (c) Two (d) Three (e) Four

13. Four of the following five are alike in a certain way and forms a group find the one that does not 
belongs to that group? 
तनम्नतलक्तिि पांच में से चाि एक तनतिि ििीके से एक जैसे हैं औि एक समूह बनािे हैं वह ज्ञाि कीतजए जो
उस समूह से संबंतिि नही ं है?

(a) 3E% (b) R⧫2 (c) M&$ (d) D9S (e) Y7Z 

14. What should come in place of question mark (?) in the following series based on the above 
arrangement? 34%  N$M  6DL  8Q6  ? 
उपिोिव्यवस्र्ा के आिाि पि तनम्नतलक्तिि श्रंिला में प्रश्नवाचक तचन्ह (?) के स्र्ान पिक्या आना चातहए? 

(a) %OR (b) 7Z% (c) O%R (d) R%O (e) R%7 
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Seven people viz. P, Q, R, S, T, U and V are sitting around a circular table having 
equal distance between them. All of them are facing inside. P sits immediate 
right of Q. Only one person sits between P and S (either from left or right). U 
sits third to the right of S. T is an immediate neighbor of U. R sits second to the 
left of V. 

साि लोग अर्ााि। P, Q, R, S, T, U औि V एक वरत्ताकाि मेज के चािो ंओि समान दूिी पि
बैठे हैं। उन सभी का मुि अंदि कीओि है। P, Q के ठीक दायें बैठा है। P औि S के बीच
केवल एकव्यक्ति बैठा है (या िो बायें या दायें)। U, S के दायें से िीसिे स्र्ान पि बैठा है। T, 
U का तनकटिम पडोसी है। R, V के बायें से दूसिे स्र्ान पि बैठा है।

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

Seven people viz. P, Q, R, S, T, U and V are sitting around a circular table having 
equal distance between them. All of them are facing inside. P sits immediate 
right of Q. Only one person sits between P and S (either from left or right). U 
sits third to the right of S. T is an immediate neighbor of U. R sits second to the 
left of V. 
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15. If all the persons are arranged according to the alphabetical 
order in anticlockwise direction starting from P, then how many 
persons position will remain unchanged (except P)? यतद सभी
व्यक्तियों को P से प्रािंभ कििे हुए वामाविा तदशा में वर्ाानुक्रम के
अनुसाि व्यवक्तस्र्ि तकया जािा है, िो तकिने व्यक्तियों की क्तस्र्ति

अपरिवतिाि िहेगी (P को छोडकि)?
(a) Three (b) One (c) Two (d) None (e) None of these

16. How many persons sits between Q and U, if counted from 
the left of Q? 
Q के बायें से तगनने पि Q औि U के मध्य तकिने व्यक्ति बैठे हैं?

(a) One (b) Two (c) Three (d) None (e) None of these

17. Who sits second to the right of T? 
T के दायें से दूसिे स्र्ान पि कौन बैठा है?

(a) P (b) Q (c) R (d) S (e) None of these
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18. Four of the following five belongs to a group find the one 
that does not belongs to that group? 
तनम्नतलक्तिि पांच में से चाि एक समूह से संबंतिि हैं, वह ज्ञाि
कीतजए जो उस समूह से संबंतिि नही ं है?

(a) VQ (b) PV (c) RT (d) SU (e) TQ

19. Who among the following sits second to the left of the 
one who sits 4th to the right of V? 
तनम्नतलक्तिि में से कौन V के दायें से चौरे् स्र्ान पि बैठे व्यक्ति

के बाएं से दूसिे स्र्ान पि बैठा है?

(a) U (b) T (c) R (d) S (e) None of these
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There are ten persons are sitting in two parallel row such that five persons are sitting in 
each row. A, B, C, D and E are sitting in row 1 and faces north and M, N, O, P and R are 
sitting in row 2 and faces south such that persons sitting in row 1 faces the persons sitting 
row 2. B sits immediate right of A. Neither A nor B sits at the extreme ends. Two person 
sits between P and N. B faces the one who sits on the immediate left of P. M sits on the 
immediate right of R. C sits at the end of the row. D sits on the left of E. D does not face R. 

दो समानांिि पंक्ति में दसव्यक्ति इस प्रकाि बैठे हैं तक प्रते्यक पंक्तिमें पांचव्यक्ति बैठे हैं। A, B, 
C, D औि E पंक्ति 1 में बैठे हैं औि उत्ति कीओि उनु्मि हैं औिM, N, O, P औि R पंक्ति 2 में बैठे
हैं औि दतक्षर्कीओि इस प्रकाि बैठे हैं तक पंक्ति 1 में बैठे व्यक्तियोंका मुि पंक्ति 2 में बैठे
व्यक्तियोंकीओि है। A के ठीक दायें बैठा है। न िो A औि न ही B अंतिम छोि पि बैठा है। P औि
N के बीच में दो व्यक्ति बैठे हैं। B, P के ठीक बायें बैठे व्यक्तिकीओि उनु्मि है।M, R के ठीक
दायें बैठा है। C, पंक्ति के अंि में बैठा है। D, E के बायें बैठा है। D का मुि R कीओि नही ं है।
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There are ten persons are sitting in two parallel row such that five persons are sitting in 
each row. A, B, C, D and E are sitting in row 1 and faces north and M, N, O, P and R are 
sitting in row 2 and faces south such that persons sitting in row 1 faces the persons sitting 
row 2. B sits immediate right of A. Neither A nor B sits at the extreme ends. Two person 
sits between P and N. B faces the one who sits on the immediate left of P. M sits on the 
immediate right of R. C sits at the end of the row. D sits on the left of E. D does not face R. 
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23. Four of the following five belongs to a group find the one 
that does not belongs to that group? 
तनम्नतलक्तिि पांच में से चाि एक समूह से संबंतिि हैं, वह ज्ञाि

कीतजए जो उस समूह से संबंतिि नही ं है?

(a) O (b) C (c) D (d) P (e) N

24. Who among the following sits second to the left of the 
one who faces B? 
तनम्नतलक्तिि में से कौन B की ओि उनु्मि व्यक्ति के बाएं से

दूसिे स्र्ान पि बैठा है?

(a) R (b) N (c) O (d) M (e) None of these

25. How many persons sits on the left of N? 
N के बाईं ओि तकिने व्यक्ति बैठे हैं?

(a) One (b) Two (c) No one (d) Three (e) None of these
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26. How many persons sits between D and C? 
D औि C के मध्य तकिने व्यक्ति बैठे हैं?

(a) One (b) Two (c) Three (d) No One (e) Can’t be 
determined 

27. Who among the following faces A? 
तनम्नतलक्तिि में से तकसका मुि A की ओि है?

(a) M (b) N (c) O (d) R (e) None of these
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28. IF ‘He will Say’ is coded as ’1 3 9’ and ‘Say To Him’ is coded as ‘3 5 2’ and 
‘He May Do’ is coded as ‘8 7 9’ then what will be the code of ‘will’? 

यतद 'He will Say' को '1 3 9' के रूप में कोतडि तकया गया है औि 'Say To Him' को
'3 5 2' के रूप में कोतडि तकया गया है औि 'He May Do' को '8 7 9' के रूप में

कोड तकया गया है, िो 'का कोडक्या होगा' मजी’?

(a) 3 (b) 1 (c) 9 (d) 8 (e) Can’t be determined
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29. How many pairs of letters are there in the word “MINUTE” each of which have 
as many letters between them in the word as they have between them in the 
English alphabetical series? 
शब्द “MINUTE” में अक्षिो ं के ऐसे तकिने युग्म हैं, तजनमें से प्रते्यक के बीच उिने ही

अक्षि हैं तजिने अंगे्रजी वर्ामाला में उनके बीच हैं?

(a) Three (b) One (c) Two (d) More than three (e) None
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There are six persons i.e. A, B, C, D, E and F who all are of different weight. No two 
persons have same weight. Only two persons are lighter than A. B is heavier than A but 
lighter than C and D. F is heavier than E but lighter than D. D is not the heaviest. The 
weight of 2nd heaviest person is 115 kg and the weight of lightest is 56 kg.

छहव्यक्तिअर्ााि A, B, C, D, E औि F हैं, तजनका भाि अलग-अलग है। तकन्ही ंदो व्यक्तियोंका

भाि समान नही ं है। केवल दोव्यक्ति A से हले्क हैं। B, A से भािी है लेतकन C औि D से हल्का है।

F, E से भािी है लेतकन D से हल्का है। D सबसे भािी नही ं है। दूसिे सबसे भािी व्यक्तिका वजन

115 तकग्रा हैऔि सबसे हले्कव्यक्तिका वजन 56 तकग्रा है।
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30. How many persons are heavier than F? F से तकिने व्यक्ति भािी हैं?

(a) One (b) Two (c) Three (d) Four (e) None of these

31. If the sum of weight of E and A is 131 and the sum of weight of D and B is 213, then 
what is the sum of weight of A and B? यतद E औि A के वजन का योग 131 है औि D औि
B के वजन का योग 213 है, िो A औि B के वजन का योग क्या है?

(a) 172 (b) 173 (c) 174 (d) 175 (e) None of these

32. Which among the following person is the 2nd heaviest? तनम्नतलक्तिि में से कौन दूसिा
सबसे भािी व्यक्ति है?

(a) A (b) B (c) C (d) D (e) None of these

33. Which of the following statement is true? I. Only two persons are heavier than B. II. Sum of 
weight of D and E is 171 Kg. III. Weight of E is 58 Kg. तनम्नतलक्तिि में से कौन सा कर्न सत्य है? I. 
केवल दो व्यक्ति B से भािी हैं। II। D औि E के भाि का योग 171 तकग्रा है। III. ई का वजन 58 तकलो

है।

(a) Only II (b) Both I and II (c) Both III and II (d) All are True (e) Only III
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Uncertain number of persons are sitting in a linear row facing north. B sits fifth to 
the left of E. Two persons sits between B and D. D sits second position from one of 
the extreme end. Five persons sits between S and E. S is not an immediate neighbor 
of B. As many as persons sits between E and S as between S and C. As many as 
persons sits between D and B as between B and F. C sits third position from the 
extreme end. 

एक िैक्तिक पंक्तिमें उत्ति कीओि उनु्मिव्यक्तियोंकी संख्या अतनतिि है। B, E के बायें से
पांचवें स्र्ान पि बैठा है। B औि D के बीच दो व्यक्ति बैठे हैं। D तकसी एक अंतिम छोि से
दूसिे स्र्ान पि बैठा है। S औि E के बीच पांचव्यक्ति बैठे हैं। S, B का तनकटिम पडोसी नही ं
है। E औि S के बीच उिने ही व्यक्ति बैठे हैं तजिने S औि C के बीच बैठे हैं। D औि B के बीच
उिने ही व्यक्ति बैठे हैं तजिने B औि F के बीच बैठे हैं। C िीसिे स्र्ान पि बैठा है। चिम छोि
से क्तस्र्ति।
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Uncertain number of persons are sitting in a linear row facing north. B sits fifth to 
the left of E. Two persons sits between B and D. D sits second position from one of 
the extreme end. Five persons sits between S and E. S is not an immediate neighbor 
of B. As many as persons sits between E and S as between S and C. As many as 
persons sits between D and B as between B and F. C sits third position from the 
extreme end. 
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34. How many persons are sitting in the row? 
पंक्ति में तकिने व्यक्ति बैठे हैं?

(a) 21 (b) 23 (c) 24 (d) 26 (e) Can’t be determined

35. If G sits 2nd to the right of S, then what is the position of G 
from right end? यतद G, S के दायें से दूसिे स्र्ान पि बैठा है, िो दायें

छोि से G का स्र्ानक्या है?

(a) 7 (b) 9 (c) 8 (d) 6 (e) None of these

36. What is the position of F with respect to E? 
E के सन्दभा में F का स्र्ान क्या है?

(a) Second to the right (b) Second to the left (c) Third to the left 
(d) Fifth to the Right (e) None of these 
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Point C is 12m west of point A. Point B is 18m north of point A. Point E is 9m south of point D. Point F is 
14m west of point E. Point D is 28m east of point B. F is 13m south of point G. तबंदु C, तबंदु A के 12मी पतिम

में है. तबंदु B, तबंदु A के 18मी उत्ति में है. तबंदु E, तबंदु D के 9मी दतक्षर् में है. तबंदु F, तबंदु E के 14मी पतिम में है. 

तबंदु D, तबंदु B के 28मी पूवा में है. F, तबंदु A के 13मी दतक्षर् में है तबंदु जी.

37. Four of the following five belongs to a group find the 
one that does not belongs to that group? 
(a) CB (b) AD (c) AE (d) BG (e) FB

38. In which direction point A with respect to point G? (a) 
North-west (b) South-east (c) South-west (d) North (e) 
North-east

39. If Point S is 4m south of point G then what is the 
distance between point B and point S? (a) 28m (b) 9m (c) 
8m (d) 14m (e) None of these
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40. Find the odd one out? तवर्म चुनें?
(a) PSRQ (b) MONL (c) ADCB (d) VYXW (e) ILKJ
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Six persons J, P, Q, R, V, Z are sitting in a row. Some of them are facing north 
while some of them are facing south. J sits second from one of the extreme end 
of the row. P sits third to the right of J. R is not an immediate neighbor of P and 
Z. Both the immediate neighbors of V faces opposite direction. Both the 
Immediate neighbors of Z faces same direction. V sits second to the left of P. Q 
sits to the right of R. R faces north. Q faces same direction as Z. 

छहव्यक्ति J, P, Q, R, V, Z एक पंक्तिमें बैठे हैं। उनमें से कुछका मुि उत्तिकीओि है

जबतक कुछका मुि दतक्षर्कीओि है। J पंक्ति के तकसी एक अंतिम छोि से दूसिे

स्र्ान पि बैठा है। P, J के दायें से िीसिे स्र्ान पि बैठा है। R, P औि Z का तनकटिम
पडोसी नही ं है। V के दोनो ं तनकटिम पडोतसयो ंका मुि तवपिीि तदशा में है। Z के दोनो ं
तनकटिम पडोतसयो ंका मुि समान तदशा कीओि है। V, P के बायें से दूसिे स्र्ान पि
बैठा है। Q, R के दायें बैठा है। R का मुि उत्तिकीओि है। Q का मुि Z के समान तदशा
कीओि है।
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Six persons J, P, Q, R, V, Z are sitting in a row. Some of them are facing north 
while some of them are facing south. J sits second from one of the extreme end 
of the row. P sits third to the right of J. R is not an immediate neighbor of P and 
Z. Both the immediate neighbors of V faces opposite direction. Both the 
Immediate neighbors of Z faces same direction. V sits second to the left of P. Q 
sits to the right of R. R faces north. Q faces same direction as Z. 
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1. Four of the following five are alike in a certain way, and so form a 
group. Which of the following does not belong to the group? 
तनम्नतलक्तिि पांच में से चाि एक तनतिि ििीके से समान हैं, औि

इसतलए एक समूह बनािे हैं। तनम्नतलक्तिि में से कौन समूह से
संबंतिि नही ं है?

(a) R, V (b) V, P (c) J, P (d) V, Q (e) J, R

2. What is the position of Q with respect to Z? 
Z के सन्दभा में Q का स्र्ान क्या है?

(a) Second to the left (b) Third to the right (c) Third to the left (d) Fifth to 
the right (e) Second to the right

3. Who amongst the following sits exactly between Z and J? 
तनम्नतलक्तिि में से कौन Z औि J के ठीक बीच में बैठा है?

(a) R (b) P (c) Q (d) Both V and Q (e) V
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4. How many persons in the given arrangement are 
facing North?
दी गई व्यवस्र्ा में तकिने व्यक्ति उत्ति की ओि उनु्मि
हैं?

(a) More than four (b) Four (c) One (d) Three (e) Two

5. Who is sitting 4th to the right of Q?
Q के दायें से चौरे् स्र्ान पि कौन बैठा है?

(a) R (b) Z (c) P (d) J (e) None of these
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Seven boxes M, N, O, P, Q, R, S are arranged one 
above another. Only two boxes are placed 
above box P. Only one box is placed between 
box S and P. As many as boxes are placed 
between box S and Q as between box Q and M. 
Three boxes are placed between box N and O. N 
is placed above O.

साि तडबे्बM, N, O, P, Q, R, S को एक दूसिे के
ऊपिव्यवक्तस्र्ि तकया गया है। बॉक्स P के ऊपि
केवल दो बॉक्स ििे गए हैं। बॉक्स S औि P के बीच
केवल एक बॉक्स ििा गया है। बॉक्स S औि Q के
बीच उिने ही बॉक्स ििे गए हैं तजिने बॉक्स Q औि
M के बीच ििे गए हैं। िीन बॉक्सबॉक्स Nऔि O 
के बीच ििे गए हैं। N है ओ केऊपि ििा गया है।
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9. How many total numbers of boxes are placed in 
between box S and Q? बॉक्स S औि Q के बीच में कुल

तकिनी संख्या में बॉक्स ििे गए हैं?

(a) Two (b) One (c) Three (d) More than three (e) None

10. Which of the following is true regarding Box N? 
बॉक्स N के संबंि में तनम्नतलक्तिि में से कौन सा सत्य है?

(a) Three boxes are placed between box Q and N (b) Box N 
is placed below Q (c) Box N is placed at top (d) Only one 
box is placed above box N (e) No box is placed between 
box N and R

11. Which box is placed at top? 
कौन सा बॉक्स सबसे ऊपि ििा गया है?

(a) S (b) N (c) Q (d) R (e) M

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

12. Which box is placed immediately above box Q?
तडब्बा Q के ठीक ऊपि कौन-सा तडब्बा ििा गया है?

(a) M (b) P (c) S (d) N (e) R

13. How many boxes are placed in between R and M? 
R औि M के मध्य तकिने तडबे्ब ििे गए हैं?

(a) Two (b) One (c) Three (d) More than three (e) None
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14. What will be the code for “order”? 
(a) gb (b) fc (c) cq (d) ik (e) can’t be determined

15. What may be the code for “things to vanish”? 
(a) po cq hx (b) po vm ik (c) cq fc ik (d) either (a) or (b) 
(e) None of these

16. What will be the code for “ arrange”? 
(a) gb (b) mn (c) cq (d) ik (e) can’t be determined

17. What may be the code for “ in country”? 
(a) lf ik (b) de ik (c) po gb (d) either (a) or (b) 
(e) None of these

18. “bv” is the code for? 
(a) things (b) new (c) arrange (d) places 
(e) None of these
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Six persons A, C, Q, R, T, Y were born in six 
different months January, April, May, 
August, September, December of a year. 
Three persons were born in between A and 
Y. A was born before Y. No one was born in 
between C and A. Two persons were born in 
between C and R. T was born before Q. 

छहव्यक्ति A, C, Q, R, T, Y एक वर्ा के छह
अलग-अलग महीनो ंजनविी, अपै्रल, मई, 
अगस्त, तसिंबि, तदसंबि में पैदा हुए रे्। A औि
Y के बीच में िीनव्यक्ति पैदा हुए रे्। A का जन्म
Y से पहले हुआर्ा। C औि A के बीच में तकसी
का जन्मनही ंहुआर्ा। C औि R के बीच में दो
व्यक्ति पैदा हुए रे्। T का जन्म Q से पहले हुआ
र्ा।
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19. Who among the following was born in May? 
(a) C (b) A (c) Q (d) T (e) Y

20. How many persons were born between A and Q? 
(a) One (b) Three (c) Four (d) Two (e) None of these

21. How many persons born were before R? 
(a) One (b) Three (c) Four (d) Two (e) None of these

22. Who among the following is the oldest? 
(a) C (b) A (c) Q (d) T (e) Y

23. Which of the following is not true 
regarding Y? 
(a) Four persons born between C and Y 
(b) R was born before Y 
(c) Q is born immediately after Y 
(d) Only Q was born between Y and R 
(e) No one was born after Y
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24. A family consists of five members A, P, R, T, H. P is wife of A. R is the daughter 
of A. R has only one brother T. H is daughter-in-law of P. How is H related to R? 
एक परिवाि में पांच सदस्य A, P, R, T, H हैं। P, A की पत्नी है। R, A की पुत्री है। R का
केवल एक भाई T है। H, P की पुत्रविू है। H तकस प्रकाि संबंतिि है? आि को?

(a) mother (b) sister-in-law (c) daughter (d) daughter-in-law (e) none of these

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

25. If the digits of the number “46752983” are arranged in increasing order form 
left to right within the number, then how many digits will remain on the same 
position after the applied operation? 
यतद संख्या "46752983" के अंको ं को संख्या के भीिि बाएं से दाएं ब़ििे क्रम में

व्यवक्तस्र्ि तकया जािा है, िो लागू ऑपिेशन के बाद तकिने अंक समान स्र्ान पि
िहेंगे?

(a) Two (b) One (c) Three (d) Four (e) None of these 
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26. How many meaningful words can be made by using letters ‘A’, ‘E’, 
‘L’ and ‘T’, keeping L as the first letter of the word? 
L को शब्द का पहला अक्षि िििे हुए 'A', 'E', 'L' औि 'T' अक्षिो ं का प्रयोग
किके तकिने अर्ापूर्ा शब्द बनाए जा सकिे हैं?

(a) One (b) Two (c) Three (d) Four (e) None of these
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Point E is 15m east of point B. Point G is 20m north of point E. Point K is 10m east of point G. Point M is 
30m south of point K. Point P is 20m west of point M. Point L is 10m north of point P. तबंदु E, तबंदु B के 15 

मीटि पूवा में है। तबंदु G, तबंदु E के 20 मीटि उत्ति में है। तबंदु K, तबंदु G के 10 मीटि पूवा में है। तबंदु M, तबंदु K के
30 मीटि दतक्षर् में है। तबंदु P, तबंदु M के 20 मीटि पतिम में है। तबंदु L, तबंदु पी का 10 मीटि उत्ति में है।

27. If Point V is 10m east of point S and Point S is 10m 
north of point L, then what will be the distance between 
point E and V? यतद तबंदु V, तबंदु S के 10मी पूवा में है औि

तबंदु S, तबंदु L के 10मी उत्ति में है, िो तबंदु Eऔि V के बीच

की दूिी क्या होगी?

(a) 10m (b) 15m (c) 20m (d) 5m (e) 25m

28. What is the total distance between point B and L?
तबंदु B औि L के बीच की कुल दूिी तकिनी है?

(a) 10m (b) 15m (c) 20m (d) 5m (e) 30m
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29. If Point Z is 10m north of point M, then point what is the 
distance between point E and Z? यतद तबंदु Z, तबंदु M के 10मी उत्ति

में है, िो तबंदु E औि Z के बीच की दूिी क्या है?

(a) 10m (b) 15m (c) 20m (d) 25m (e) 30m 

30. Point K is in which direction from point P? तबंदु K, तबंदु P से
तकस तदशा में है?

(a) South (b) South-east (c) North (d) North-east (e) North-west

31. Four of the following five are alike in a certain way, and so 
form a group. Which of the following does not belong to the 
group? तनम्नतलक्तिि पांच में से चाि एक तनतिि ििीके से समान हैं, 

औि इसतलए एक समूह बनािे हैं। तनम्नतलक्तिि में से कौन समूह से
संबंतिि नही ं है?

(a) P, L (b) P, M (c) G, E (d) L, E (e) G, B

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

1 3 5 3 4 5 9 2 8 7 2 3 6 5 2 7 3 8 1 2 1 8 4 9 8 1 2 4 7 3 5 2 4 8 9 8 2 4

32. Which element is exactly midway between the seventh element from the left end and 
sixteenth from the right end? कौन सा ित्व बाएं छोि से सािवें औि दाएं छोि से सोलहवें ित्व के

ठीक बीच में है?

(a) 8 (b) 2 (c) 5 (d) 6 (e) 7

33. How many perfect squares are there to the right of the fourteenth element from the right 
end? चौदहवें ित्व के दायें छोि से दायें ओि तकिने पूर्ा वगा हैं?

(a) Two (b) One (c) Three (d) Four (e) more than four

34. How many perfect cubes are there in the above arrangement, each of which is immediately 
preceded by an odd number and immediately followed by an even number? उपिोि व्यवस्र्ा

में तकिने पूर्ा घन हैं, तजनमें से प्रते्यक के ठीक पहले एक तवर्म संख्या औि ठीक बाद एक सम

संख्या है?

(a) None (b) Three (c) Two (d) One (e) More than three 
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35. How many such odd digits are there in the given arrangement, each of which is 
immediately followed and preceded by an odd number? 
दी गई व्यवस्र्ा में ऐसे तकिने तवर्म अंक हैं, तजनमें से प्रते्यक के ठीक बाद एक तवर्म
संख्या है?

(a) None (b) One (c) Two (d) Three (e) More than three

36. Which of the following element is 5th to the right 
of 10th from the right end? 
तनम्नतलक्तिि में से कौन सा ित्व दायें छोि से 10वें के दायें
से 5वां है?

(a) 9 (b) 8 (c) 2 (d) 1 (e) 4 

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

There are six wallets A, B, C, P, Q and R, each containing different amount of money in it. Wallet B 
has more money than wallet Q but less than wallet P. Only wallet R has more money than wallet 
C. Wallet Q does not has the least amount of money. The wallet containing 3rd highest amount of 
money has Rs. 3000, which is Rs.1000 more than the wallet which has 2nd lowest amount of 
money. 

छह वॉलेट A, B, C, P, Q औि R हैं, तजनमें से प्रते्यक में अलग-अलग िातश है। वॉलेट B के पास वॉलेट Q से
अतिक पैसा है लेतकन वॉलेट P से कम है। केवल वॉलेट R के पास वॉलेट C से अतिक पैसा है। वॉलेट Q में
कम से कम िातश नही ं है। िीसिी सबसे बडी िातश वाले वॉलेट में रु. 3000, जो उस वॉलेट से 1000 रुपये
अतिक है तजसमें दूसिी सबसे कम िातश है।
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37. Which of the following wallet has the least amount of money?
तनम्नतलक्तिि में से तकस वॉलेट में सबसे कम िातश है?

(a) A (b) B (c) C (d) Q (e) P 

38. What may be the amount of money in wallet C? 
वॉलेट C में तकिनी िातश हो सकिी है?

(a) Rs. 2500 (b) Rs. 2000 (c) Rs. 3500 (d) Rs. 2250 (e) Rs. 2100

39. What may be the amount of money in wallet B, if it has Rs. 250 less 
than the wallet P? वॉलेट B में तकिनी िनिातश हो सकिी है, यतद उसके पास

रु. बटुए P से 250 कम?

(a) Rs. 2500 (b) Rs. 2750 (c) Rs. 3500 (d) Rs. 3250 (e) Rs. 2200

40. Which of the following is true regarding wallet P? वॉलेट P के संबंि में तनम्नतलक्तिि में से कौन

सा सत्य है?

(a) Only wallet A has less money than wallet P (b) Wallet B has more money than wallet P 
(c) Wallet P has 3rd highest amount of money (d) Wallet Q has more amount of money than P 
(e) none of these
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